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gvierrfefal @ forv fAger —
Instructions for the candidates :-
1, wienedi OMR StTR—Ua$ W U=l Yz YRAdHT HHD (10 3l i)

araey fordd |
Candidates must enter his/her Question Booklet Serial No. (10

Digits) in the OMR Answer Sheet.
2. TRIeTTef} TATHHT SO IeaT H B SN G |

Candidates are required to give answers in their own words as far
as practicable.

3. <R OR TR W RY gu sie gl Ml e §)
Figures in the right hand margin indicate full marks.

4. gedl ®I LIFYdd Ugd & o1y wRiefil o7 15 e &1 srfaRed |wa
= T B |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.



I8 U—YRAHT a1 Wusl H & - GUe—3A U9 WUs—q |
This question booklet is divided into two sections : Section-A and

Section-B.

gue—31 H 100 IS yeH g, fOH 9 fbl 50 YAl @I SR
AFErd 21 50 Ul ¥ AP P IR I W UAH 50 BT B HATDHA
BT Udd & U 1 o giRT €1 91 SR < & foy Sucre
PRI T OMR SR 95& H QU MU |El fdbeq &l il / lal dfd

U9 9 We | A f UR & gRe R / IRd Uy / =i [/

A e & OMR ST UFd H WM &HRAT 791 7, ¥l URomM
3= BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then only first 50 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on the OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail
etc on OMR Answer Sheet, otherwise the result will be treated
invalid.

WGus—q H 30 ofg ITRIY U B, YD & oy 2 i FeiRa &, o= 4
=l 15 YAl BT IR <1 AAR] 2| 39 ARG 39 Wos H 8 Qe



T ged fou v E ude us @ forv 5 o fAuifRa 2 RE @
fohal 4 T &1 IR <7 S7fard 2 |

In Section-B, there are 30 Short answer type questions, each
carrying 2 marks, out of which any 15 questions are to be
answered. Apart from these, there are 8 long answer type
questions, each carrying 5 marks, out of which any 4 questions are

to be answered.

8. ¥l UBR & Seldei-h SUBRUT BT IUANT YoUidaT dferd ¢ |

Use of any type of electronic appliance is strictly prohibited.

Yug—3f / Section-A

axqfss 93+ / Objective Type Questions

g T 1 9 100 db & AP U & A1 IR Aoy v v § 599 9 s
AL B | AU ERT g4 T ) fadwed &I OMR-SR gRast R fafed o | foi

50 Ul BT B SR < | (50x1=50)

Question Nos.- 1 to 100 have four options, out of which only one is correct.
You have to mark, your selected option on the OMR- Sheet. Answer any 50

questions. (50x1=50)

1, M &® THART Hola: fhd qeT @ IART © 2
(A) gTa @l (B) SuHTaRT I B
(C) B4 TI= &I (D) 3T BT



To which factor economic problem is basically related to

(A) Choice (B) Consumer’s Selection
(C) Firm’s Selection (D) Revenue

U FHTOATG] JffIaRAT BT 7ol 3¢ BIAT © —

(A) IRIBIRID SeaTeH (B) anfdfes waci=rar

(C) g1 HHTT (D) 31freaH ol FHearr
The main objective of a Socialist Economy is

(A) Maximum Production (B) Economic Freedom

(C) Earning Profit (D) Maximum Public Welfare

fe srfaraRen # oA 93 & MR W iy forw oima € 2

(A) RTSTe= (B) wHTSTaTET

(C) fafera (D) gutrar<T

In which economy decisions are taken on the basis of Price
Mechanism ?

(A) Monarchy (B) Socialist

(C) Mixed (D) Capitalist

W= SuAfdr =

ATU AMU
v (B) 5o

AQ AQ
©) 27w (®) Tw

Marginal Utility



ATU AMU
vy (B) 5o

AQ AQ
v v

A AT TR 99 &1 FHET oar § —

(A) STanfrar gfg fram (B) STnfirar g4 frem

(C) uforermu= g\ (D) Syaifirar Rer
Law of Equi Margial Utility is called —

(A) Law of increasing utility (B) Law of decreasing utility
(C) Law of substitution (D) Law of constant utility
fF=rfeiRaa § @i Yol @rd H 81 T ?

(A) TRBRT AT (B) Ul 3Rl

(C) wrer fryaer (D) fsf @t

Which of the following does not come in capital account ?
(A) Official Transaction (B) Unilateral Transfer

(C) Direct Investment (D) Private Transaction

=1 § ¥ ®F ISNAar g [aeelyor § Igqradr Aded @l ud § 2

(A) STRAFAT I BT T DI T2 B

(B) Iger fag W ISIFaT asb ol famg &) IR I=Idiex 8F1 A1y |
(C) (A) 3R (B) =T

(D) 57 & P1g T

Which of the following is Consumer’s Equilibrium condition

Indifference Curve Analysis ?



(A) Price line should be tangent to Indifference Curve.

(B) Indifference Curve should be convex to the origin at the point of
equilibrium.

(C) (A) and (B) both

(D) None of these

HAT Ih D FHUTHD Sl & BRI & —

(A) Tl HHE ST &1 94

(B) Mg guTg

(C) ufcermu= g+rq

(D) S |+l

Reason for downward slope of Demand curve is —
(A) Law of Diminishing Marginal Utility

(B) Income effect

(C) Substitution effect

(D) All the above

famprTeicr <o & oty ifd & Sevg 8 —

(A) UGS fHoT BT g@Tar <1

(B) anfefe ReRar a911q I
(C) fafairT & forg Al & Tahfd &=
(D) 74 & |

Objective of Fiscal Policy in Underdeveloped countries is —



(A) to promote capital formation.
(B) to maintain economic stabilization
(C) to mobilize resources for investment
(D) All of these
10.  MfR® Yfdd &I Fad fhar Sdr g —
(A) RTT S (B) STRINT w4 qud & oS @ w9 A
(C) (A) 3R (B) & (D) s PIg &l
Aggregate supply can be presented as
(A) National Income
(B) Addition of consumption and saving
(C) (A) and (B) both
(D) None of these
1. 9 % 9 o9 A1 dod 98 8 ?

(A) T BT MaTIHany AT Bl §
(B) St Hifad & &

(C) |t &7 debfeuds YATT &Y 81T &

(D) 3MaeHAT § PIg R -T&T 81T &
Which of the following statement is true ?
(A) Human wants are limited

(B) Resources are limited

(C) There is no alternative use of resources



12.

13.

14.

(D) There is no difference in wants.

e srfeaRer ¥ S &1 dged R JUf SRR & WR A ygd Feika 8l

ST 8, 99 $9 P8l Il & —

(A) = T DT g2 (B) 3nfererd #RT @l &2

(C) 31if¥rer AT & a2 (D) ReR AT &1 <21

If income equilibrium level in the economy is determined at the level
before full employment, it is known as the state of

(A) Deficient Demand (B) Surplus Demand

(C) Partial Demand (D) Constant Demand

31l g &7 fas= 87 fhddr b= & ?

(A) TsH ey (B) Aretet

(C) ¥ifa=a (D) Sgerer

Whose statement is “Economics is the Science of Wealth” ?
(A) Adam Smith (B) Marshall

(C) Robbins (D) Samuelson

SYAIAT BT hAadr=d e feaa fear g ?

(A) AT (B) 91,

(C) & wd Vet (D) Repref
Who propounded the Ordinal Theory of Utility ?
(A) Marshall (B) Pigou

(C) Hicks and Allen (D) Ricardo



15.  fe=forRaa & o9 a1 e Agr 8 °?

(A) TS <RI el = HIT & AT 2 |
(B) WIfes 31=RTel 1fcRes AT &7 A1 B |
(C) (A) 3R (B) =T
(D) ST & B1g &
Which of the following is true ?
(A) Deflationary gap is a measure of deficient demand
(B) Inflationary gap is a measure of excess demand
(C) Both (A) and (B)
(D) None of these
16.  UST &I HIFd d¢ S IR HR b 91T 9 Ragd Siidl & —
(A) =TI TR (B) SR @ 3R
(C) it TR (D) ¥ @ iR
Increase in the price of Petrol, the demand curve of a Car shifts.
(A) Rightward (B) Upward
(C) Leftward (D) Downward

o

17, DI &1 b NG [Faad dra Fag w@fid &Rar & ?

(A) a9 IR 3y (B) 3 3R SUHRT
(C) T=a 3R faer (D) @™ 3R =1+
Keynesian Multiplier establishes relationship between which of the

following ?



18.

19.

20.

(A) Investment and Income (B) Income and Consumption

(C) Saving and Investment (D) Profit and Loss

qexerdr g fAeeiyor # <1 avqall & dre A &1 srgurd <eriar §rdr & —
(A) DHT T A (B) Gyl 9% ¥

(C) Tewerar o= & (D) 7T a% ¥

The ratio of exchange between two goods in Indifference Curve
analysis is shown by -

(A) The Price Line (B) The Indifference Curve

(C) Indifference Map (D) Demand Curve

AT Teq BT SIWMUT AR 8 SS9 HET W SNl ofdl § o Ua AfEd

BT W WG Sl &7, fhddr HuF § ?

(A) < T foa (B) 3==H

(C) w4 (D) HgereT

“‘Demand is an amount of a thing which a person is willing to buy at a
given price”. Whose statement is this ?

(A) J. S. Mill (B) Benham

(C) Mayers (D) Samuelson

RISHTR 0T T STHGTA] DI & 2
(A) 1 (B) &=
(C) by (D) AR

Who is the originator of Employment Multiplier ?

10



21.

22.

23.

24.

(A) Kahn (B) Canon
(C) Pigou (D) Senior
ST & aRard e Rigia &1 ufares feas faar ?

(A) wTeTet (B) o ¥io YL

(C) Slo 7" &I=1 (D) TsH ey

Who has propounded Liquidity Preference theory of Interest ?
(A) Marshall (B) A. C. Pigou

(C) J. M. Keynes (D) Adam Smith

ITEA R ISR BT wR R S1ar & —

(A) 7T (B) g&T I ¥
(C) wroh o (D) g7 % &
The level of output and employment declines in
(A) Depression (B) Inflation

(C) Boom (D) All of these

RA H 1969 H fha=l (e Sl &1 IIRIAROT febar rr ?
(A) 14 (B) 24

(C) 15 (D) 10

How many Scheduled Banks were nationalised in 1969 in India ?

(A) 14 (B) 24
(C) 15 (D) 10
AT &) oI &1 919 fF=forfRad & & o fafr @ =8 fooar Sar g 2

11



25.

26.

(A) Tt @t Afey (B) srgmfrs Ofy

(C) fa=g fay (D) Saure Afc

With which method Elasticity of Demand is not measured ?
(A) Total Expenditure Method (B) Proportionate Method
(C) Point Method (D) Product Method

db H WD Adl GuR vqg FEfaRad # fow afafa o1 T g ?
(A) TSI Tetar |fAfa (B) "rsuriRar \fAf

(C) =t wfafe (D) =iehaci A

Which committee was constituted for suggesting consumer service
improvements in banks ?

(A) Raja Chelliah Committee (B) Goiporia Committee

(C) Verma Committee (D) Chakrabarty Committee

T # AR &1 BRI —

(A) T B 9K DI BHT Sl B ST

(B) <1 g8 o &l dHa R ST

(C) RIHII~ ag &I HHAd Hdl &1 ST

(D) Rep g% ! AT R ST

Expansion in demand occurs due to —

(A) Rise in the price of the given commodity
(B) Fall in the price of the given commodity

(C) Rise in the price of substitution goods

12



27.

28.

29.

(D) Fall in the price of complementary goods

S AT A R &1 aReTeTs Ut T8 2 ?

(A) §& < (B) Afre @@

(C) Got aToR @ foramg (D) A%< BIY gurad H gRad
Which is not a quantitative method of credit control ?

(A) Bank Rate

(B) Moral Suasion

(C) Open Market Operations

(D) Change in Cash Reserve Ratio (CRR)

3T Ig- WX YA b a=gall I ART &er <dT 7 ?
(A) =T 9] (B) ffthT a%g
(C) (A) 3R (B) < (D) $ 1 IS AL

With an increase in income consumer decreases the demand of which

goods ?
(A) Normal goods (B) Giffen goods
(C) (A) and (B) both (D) None of these

o

BT b g & 94y 2 —

(A) T¥Tagel HRT | (B) ¥ & IR o\

(C) gl IR @1 fohamall | (D) AT @1 SArereiieardr |
Keynesian Theory is associated with —

(A) Effective Demand (B) Say’s Law of Maket

13



30.

31.

32.

(C) Open Market Operations (D) Flexibility of Wages

IRTE ARTal | affafora € —

(A) Pd HIT BT Y

(B) #iffepi &1 ASIg

(C) &1\1 =g

(D) ScUTEd @1 AT WA DI Yol BT AT
Explicit Cost Includes -

(A) Expenditure on Raw Material

(B) Wages of Labour

(C) Insurance Expenses

(D) Interest of entrepreneur’s own capital

\WaN

Hifed NTT &7 TUch HIF T8l © 7

(A) T orTd (B) A= Y

(C) ar&ifde oITd (D) 3T AT
Which is not a component of Money Cost ?

(A) Explicit Cost (B) Normal Profit
(C) Real cost (D) Implicit cost
HH BT ™ ferar g o

(A) AR>AC (B) AC>AR
(C)AR=AC (D) AR<MR

Firm earns profit when -

14



33.

34.

35.

(A) AR>AC (B) AC>AR
(C) AR = AC (D) AR<MR
“AOIGN] Heldl AR H YUl ISR &I GAT bl Y @l 2 s

3IER ?
(A) g, (B) &=
(C) #refet (D) Repref

‘Wage cut maintains full employment in the economy.” According to

whom ?
(A) Pigou (B) Keynes
(C) Marshall (D) Ricardo

S0 THO DI B JRID S SRl AR | 99 yHIferd gs ?
(A) 1926 (B) 1936
(C) 1946 (D) 1956

J. M. Keynes famous book “The General Theory” was published in

which year ?
(A) 1926 (B) 1936
(C) 1946 (D) 1956

dalg §b T B IUALAT dg B [T DI AT SUT Bl © 2
(A) XUT X€ FGT B (B) Ra<d U1 Y 9a7 o
(C) TR ufrforal &1 @i &= (D) TGN IR 1 J=ax

15



36.

37.

Which method is used by the Central Bank to increase credit
availability?

(A) Raising Repo Rate (B) Raising Reverse Repo Rate

(C) Buying government securities (D) Selling government securities
FrforiRad § | @9 RS d& & 0T o7 B GO T FOCH ol © 7
(A) g T (B) affaps

(C) arg fosioT (D) fafwa u=i &1 wer

Which of the following is not the component of granting loans by
Commercial Bank ?

(A) Cash Credit (B) Overdraft

(C) Credit Creation (D) Discount of Bills of Exchange
TR debi §RT 3R0T [FHI0T &1 Ufcha HAT 81 STl & Sld—

(A) FoT # 5 ST I T T S 2
(B) 3mRferd 3rgutd g & Sl |

(C) & TTeh, T BT Wl ¥ |

(D) BT 99 9USR, UR™ME ST & IRIER &1 ST 2 |

Process of Credit Creation by Commercial Banks comes to an end
when—

(A) Fresh deposits with bank become zero

(B) Reserve ratio becomes zero

(C) Money Multiplier becomes zero

16



38.

39.

40.

(D) Total money reserve becomes equal to initial deposit.

AN &) A fhd= YR BT 8l & 2

(A) (B) df=r
(C) & (D) &ra

How many types of Elasticity of Demand are ?

(A) Three (B) Five

(C) Six (D) Seven

Uch SRR AT dh & Heg fawg W AT B A —

(A) 7 &Fh (B) gere &l

(C) = g1l (D) 3% & BIg el

The Elasticity of Demand at the mid-point of straight line demand

curve-
(A) will be zero (B) will be unity
(C) will be infinite (D) None of these
3efeR H IUYAIRIAT BT 3R —

(A) fHHT T DT MTITIDAT YT DR Dl Afde
(B) 3Hg

(C) T=h
(D) ATIETIEHT

Utility in Economics means :

17



41.

42.

43.

(A) Want satisfying power of a commodity
(B) Pleasure

(C) Happiness

(D) Usefulness

Iod TSI I HC BT P A WR ST & 7

(A) I3 (B) S==
(C) = (D)

What level of satisfaction is shown by higher Indifference Curve ?

(A) Zero (B) High

(C) Low (D) Same
JffAIRTITHR AT ash =1 7 & F1 famar © 2

(A) ot JefrrerR AT (B) qof eirerR i
(C) 3bT$ HIT &Y =i (D) aTeT: SAeER HiT

Rectangular Hyperbola Demand Curve shows —

(A) Perfect Inelastic Demand (B) Perfect Elastic Demand
(C) Unitary Elastic Demand (D) Relatively Elastic Demand
aRaTENe AU & 9 & JJAR IUE & U2 AR H —

(A) I 3R S Fd STE 984 & |

(B) =T SUTEH 9%l ®

(C) sfrd Saure fiRar 8

(D) |1 ITE T BT @

18



44.

45.

46.

According to Law of Variable Proportion in the first stage of production-
(A) Both Marginal Product and Average Product rise.

(B) Marginal Product rises

(C) Average Product falls

(D) Marginal Product is zero

fF=rfeiaa 5 21 sifdd PRy |

(A) TVC =TC-TFC (B) TC=TVC-TFC
(C)TFC=TVC +TC (D) TC=TVC xTFC

Which of the following is correct ?

(A) TVC =TC-TFC (B) TC=TVC -TFC
(C)TFC=TVC +TC (D) TC=TVC xTFC

wH & o EfeRad & fa od & 1 axe W 31fdawad grm ?

(A) Si8f MR = MC (B) S8 MC as% MR &1 I & ®Ic
(C) (A) 3R (B) & (D) g4 ¥ &g el

With which of the following condition, firm will get maximum profit ?
(A) Where MR = MC

(B) Where MC curve cuts MR from below

(C) Both (A) and (B)

(D) None of the above

fFfeiRad & f5d aoR QoM § WM S I AT RONHED A8l &

JHdr g ?

19



47.

48.

49.

(A) THITHR (B) Tt gferamiirar
(C) (A) 3iR (B) &I (D) T’f gferafirar

In which market Marginal Revenue (MR) never becomes zero or

negative ?
(A) Monopoly (B) Monopolistic Competition
(C) (A) and (B) both (D) Perfect competition

FA—fIegg fIg 99 I 8T € o9 —

(A) TR>TC (B) MR>MC
(C) TR=TC (D) MR<MC
Break-even point shows -

(A) TR>TC (B) MR>MC

(C) TR=TC (D) MR<MC

3 I FHAM @ Al IR DI dId qAT gid B AT H gAIHD G R/l

T HRAT 8 P
(A) T @Y o= (B) gff &
(C) yfdt &1 o™ (D) Yff we

If other things remaining the same, what does the positive relationship
between price and quantity supplied of a commodity signify ?

(A) Elasticity of Demand (B) Elasticity of Supply

(C) Law of Supply (D) Supply Function

9 el g% @ gfd H erguifae uRaxs e HIHd H B dlel ATUTIS

aRq<ie 3 3Afde BiaT & o gfdd ol A sl —

20



50.

51.

(A) SHIE A HH (B) THIE & SRR
(C) a8 ¥ 31f® (D) 3=

When the proportionate change in the supply of goods is more than the

proportionate change in its price, the Elasticity of supply will be —

(A) Less than Unity (B) Equal to Unity
(C) Greater than Unity (D) Infinite

Es =0T af & fob gl @ o —

(A) gofa: deeR 8 (B) qoid: dei@cR
(C) &Y e & (D) 3%T% @MEER &

Es = 0 means that Elasticity of Supply is —

(A) Perfectly Elastic Supply (B) Perfectly Inelastic Supply
(C) Less Elastic Supply (D) Unit Elastic Supply
THIDBRT IR Bl Frefaliad § w9 1 faRivar =81 2 ?

(A) T fasdr 3R 31fdre whar

(B) THIfI®R ¥ dHd fAeiRe

(C) BHl & Ud¥ 9 fIsprI= &1 wd=ran

(D) e RATYI &1 4T

Which of the following is not a feature of Monopoly Market ?
(A) One seller and large number of buyers

(B) Monopolist as a price maker

(C) Free entry and exit of firms

21



(D) No close subsitutes

52. XTSI MY &Y AT H fed affafora fear widar & —
(A) R aKI31 &1 T U4 s
(B) wegacil Iy

(C) TIRYT YT

(D) 918 =if~Hq U Td ey
Which is included in the calculation of National Income ?
(A) Purchase and Sale of old commaodities.
(B) Intermediate commodities
(C) Transfer payment
(D) New final goods and services
53. GNP 3@@hifds a1 & ?

(A) GNP sraeifdes = 1< GNP yq0g

IrIfdd GNP
(B) GNP srawehifirey = T S EF aaGifjg‘P x100
_ drdfd® GNP
(C) GNP 3raewpifasd = —5< GNP
(D) 57 9 1g el

What is GNP Deflator ?

Nominal GNP

(A) GNP Deflator =
Real GNP

x100

Real GNP
Nominal GNP

(B) GNP Deflator = x100

Real GNP
Nominal GNP

(C) GNP Deflator =

22



54.

55.

56.

57.

(D) None of these
fFrforRaa § | @19 |1 981 &1 1 78 7 ?

(A) fafa o1 Areas (B) dHa Rerdr

(C) Iea w=g (D) oI @T & SH
Which of the following is not a function of money ?
(A) Medium of exchange (B) Price stability

(C) Store of value (D) Unit of account

q&T & M BRI & Fia (ferRad 9 9 {6 wfia favar smar g 2

(A) fafmg @1 wregs (B) g &1 A=

(C) IRg 3T YR (D) 7g &1 419

Which one is included in the secondary function of money?
(A) Medium of exchange (B) Store of value

(C) Basis of credit (D) Measure of value
IRA H JfhT &7 & GIR | 9T ST g © 7

(A) 95 1991 (B) TRR7EA BT

(C) arg0 o XSS BT (D) Baa (A) iR (B)
Which is associated with reforms in the Banking Sector ?
(A) Year 1991 (B) Narsimham Committee
(C) Y. V. Reddy Committee (D) Only (A) and (B)

T d% o1 f=forRad § 9 a1 1 798 8 ?

(A) Frc HT FT THIaHR (B) TR&R BT 9

23



58.

59.

60.

(C) faceh o @iwi &1 WRetw (D) @ fAsAfor

Which of the following is not the function of Central Bank ?
(A) Monopoly of Note issue

(B) Banker of the Government

(C) Custodian of Foreign Exchange Reserve

(D) Credit Creation

IR BT YoTTell BT e DI 8 ?

(A) R4 9% 3ifw sfosan (B) ¢T 9% 3if% sfosar

(C) gfvie g3 il gfvsal (D) ¥R SitgT d1 R
Who is the custodian of Indian Banking System ?

(A) Reserve Bank of India

(B) State Bank of India

(C) Unit Trust of India

(D) Life Insurance Corporation of India

fferiRad # & fhaeT e RRyeq afafa |9 2 ?

(A) R gIR (B) dfdb7 guR

(C) &M H guR (D) JMERYT HREAT H GR
Which of following is related to Narsimham committee ?
(A) Tax Reforms (B) Banking Reforms

(C) Agricultural Reforms (D) Infrastructural Reforms

ReR Ul & IUANT B T H&T 9T & 2

24



61.

62.

63.

(A) frra=r (B) gt frrfor

(C) féremae (D) &7 %1 F1E T
What is the consumption of fixed capital known as

(A) Investment (B) Capital formation

(C) Depreciation (D) None of these
3 gig @1 faeRe fefems H fhad gRI UKgd @ Ty ?

(A) TeH R (B) \refet

(C) <ifa= (D) #rgerer

Who gave the concept of Economic Growth in Economics ?
(A) Adam Smith (B) Marshall

(C) Robbins (D) Samuelson

Yo IR IRISRIRY 9l &7 & 2

(A) BRI oM (B) g ama

(C) ff3ra sma EIEsEE

Pension and Unemployment allowances are -

(A) Transferred income (B) Generated income

(C) Mixed income (D) Income earned
= § & B o wiftq e shT e 8 ?
(A) 3TIDN (B) 941 o

(C) vl &1 el (D) a1 &R

Which is not the constituent of Revenue Receipts ?

25



64.

65.

66.

(A) Income Tax (B) Custom Duty

(C) Recovery of Loans (D) Service Tax

@ M AR Bl ITART & AT BT FIT FHEd § 7

(A) 3l fraer vafa (B) 3iga g=rd Ugfa

(C) M SUHIT Hgfey (D) ¥ ST Hgfa

What is the ratio of total income and total consumption called ?
(A) Average Propensity to Invest

(B) Average Propensity to Save

(C) Average Propensity to Consume

(D) Marginal Propensity to Consume

fhae I 3T @ SRGTh BT U YT fdar ?

(A) @I (B) I s

(C) ForicH (D) Trsfiret

Who has made the first attempt of National Income Accounting ?
(A) Keynes (B) Gregory King

(C) Kuznets (D) Gadgil

f=ifrd 5§ o d@fad 9o © ?

(A) M, (B) My
(C) M3 3R M, (D) M, 3R M,
Which of the following is Narrow Money ?

(A) M, (B) M,
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67.

68.

69.

70.

(C) M3 and M4 (D) M1 and M2

Icare faf gRT TR SIS &F 0T # fhd et ST & 2
R (B) SeureH @l
(C) aftfa e &1 (D) =g &l

What is added in Production Method of measurement of domestic

output ?
(A) Income (B) Output
(C) Value added (D) Expenditure

TRAT—UTET (SITeT) H =TS TR BT a7 A I8l & 7

(A) s (B) =riaH

(C) %= (D) &=

What is the value of rate of interest at Liquidity Trap ?
(A) Average (B) Minimum

(C) High (D) Low

= BT AR Rigra F=foRad # fea R ik a=ar g 2

(A) wTael AT (B) gfcf

(C) ScuTeT & (D) @i fa<t

Keynesian Theory of Employment depends on which factor ?
(A) Effective Demand (B) Supply

(C) Production Efficiency (D) Public Finance

i MPC = 0.5 @1 uis (K) B8R —
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71.

72.

73.

(A) ¥ (B) 0
(C) 1 (D) 2

If MPC = 0.5 then Multiplier (K) will be

(A) ¥ (B) 0

(C) 1 (D) 2

af Tor (K) = 4 A1 T ST gaiy 2 —

(A) 0 (B) 1

(C)0.25 (D) 0.75

If multiplier (K) = 4 then Marginal Propensity to Consume will be -
(A)O (B) 1

(C)0.25 (D) 0.75

Sc 4S9 UUTTell & §HY Af&ehier a2l § o —

(A) Rer faa <= (B) siferaifera fafmar o=
(C) @ragef fafma <= (D) s & @I T

During Bretton woods system most countries had -

(A) Fixed Exchange Rate (B) Pegged Exchange rate
(C) Flexible Exchange rate (D) None of these

T TRy RTFoT U g & 9ael YA fhaT Sl ©, dednll & —

(A) b IR (B) &I IRy

(C) JIRHEIS U (D) arfiard axqy

Goods, which can alternatively be used are called -

28



74.

75.

76.

(A) Complementary Goods (B) Substitute Goods
(C) Comfort Goods (D) Necessary Goods

AR a3l & oy AFT &1 99 9% @ HFd Td ax] &1 917 & 49

e PRAT & —
(A) e TEE B (B) &TIcHeh e bl
(C) famRIa |va=eT &I (D) 37 ¥ P =l

According to Law of Demand the relationship between the price and
the quantity demanded of normal goods is -

(A) Direct (B) Positive

(C) Inverse (D) None of these

JATE B [+ § 9§ P9 8 ?

(A)C=1(Q) (B) Qx=Px

(C)Q=f(L,K........ ) (D) Q =f(C)

Which of the following is Production Function ?

(A)C=1(Q) (B) Qx=Px

(C)Q=f(L,K........ ) (D) Q =f(C)

“HeT I el AR a1 He ugad § fbeg 39 <M1 ¥ HaT Hegae
3fed RT 2" I§ AT [HABT § ?

(A) FT3fer (B) o1

(C) forfr (D) Tt
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Inflation is unjust and deflation is inexpedient but of the two perhaps

deflation is the worse.” Whose statement is this ?

(A) Marshall (B) Keynes
(C) Lewis (D) Nurkse
77.  <re@ra 9 R w1 B 7 ?
CYEEIEE (B) A=
(C) qofaran AraerR (D) goicar Seflaer
What is supply in long period ?
(A) Inelastic (B) Elastic
(C) Perfectly elastic (D) Perfectly Inelastic

78. fa=ifed & o9 W& 8 ?

(B) U @i gy = O A R ST o

(C) (A) @ (B) &
(D) 37 A BIg &l

Which of the following is correct ?

. . National Income at current Price
(A) Per Capita income =

Population

National Income at constant Price

(B) Per Capita income =

Population
(C) Both (A) and (B)
(D) None of these

79. 3 T SHIR AT d81 MUiRd 8Idr & &l —
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80.

81.

(A) B AT B 3R FHol Yfd B a_1eR & (ADF = ASF)

(B) B AT %, el gfd Head ¥ 31fei® & (ADF > ASF)

(C) |t ART ®ead Fol Yfel Bl H &4 8 (ADF < ASF)

(D) ST & B1g &

Income and employment equilibrium is determined where -

(A) Aggregate Demand Function is equal to Aggregate Supply
Function

(B) Aggregate Demand Function is more than Aggregate Supply
Function

(C)Aggregate Demand Function is less than Aggregate Supply
Function

(D) None of these

U3 qaT &1 Frifhd # | B o0 B BT § 7

(A) STTTRS e (B) 3ifda e

(C) ISR ed (D) s74 & &I
Which of the following values is less for paper money?
(A) Intrinsic value (B) Face value

(C) Market value (D) All of these

sreferaverr § ¥ ARF YA BT §d AN F7 BIAl © 2

(A) ISR 3 (B) Sl @Y 3y

(C) ¥ 3y (D) 379 ¥ BIg T
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82.

83.

84.

What is the aggregate of all factor payments in the economy ?
(A) Market income (B) Income of entrepreneur
(C) National income (D) None of these

grerfied & | Aftaferd gidr 8 —

(A) ofY (B) =T @MIR

(C) &g Sem (D) 59 &1 wft

Primary Sector includes -

(A) Agriculture (B) Retail Trading

(C) Small Industries (D) All of these

ARM A &R W YE TSI IATE BT Bl Al & —
(A) T 3 (B) 9&dt faer
(C) =e] 3 (D) afdaTd 3
Net National Product at Factor cost is called -

(A) National Income (B) Gross Investment

(C) Domestic Income (D) Personal Income

TS HH S BT SYANT 39 fdwg & el & —

(A) STEF 1 B AT IATGHAT AT &% & a_IaR BT &

(B) ST&f 3 & WA STEHAT Aolg! &% F HH Bl &

(C) ST&f 5™ @1 A IATGHhdT Holgdl &% I AfH Bl ©
(D) SWad # & I 7TEl

Every firm uses labour upto the point where —
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(A) Labour’s marginal productivity is equal to the wage rate
(B) Labour’s marginal productivity is less than to the wage rate
(C) Labour’s marginal productivity is more than the wage rate
(D) None of these

85. faWg SR fHd IR &f faivar 2 —
(A) Bae THIEBRT gferarirar
(B) ®Hadt JcuTEdR
(C) TohTfIpR &
(D) UepTierepI UfrifTer Td SfearereR Sl &
Differentiated product is a characteristic of which market —
(A) Monopolistic Competition
(B) Oligopoly only
(C) Monopoly

(D) Both Monopolistic Competition and Oligopoly

86.  3Afcl STcYPIcl H ATerETT a3 BT Yfcd ah —

(A) x-3FeT TR oTeaq BIaT ®

(B) x-31eT & FHMR BT &

(C) (A) 3R (B) =

(D) 377 & P13 e

In very short period supply curve of perishable goods is

(A) Perpendicular to x-axis
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(B) Parallel to x-axis
(C) (A) and (B) Both

(D) None of these

3id ReR &FTd 9 —
(A) X-318T & AR el Y1 By 2 |
(B) y-31&T & HHMER el Y1 Bl 2 |

(C) R=ar & <19 =1ftre #m # Sared fdhar oy |

(D) 9eaT ®, 9 1 AT § e fhar Sy |
Average Fixed cost curve —

(A) is a straight Line parallel to x-axis

(B) is a straight Line parallel to y-axis

(C) falls as more units are produced

(D) rises, as more units are produced.

LA ATEAl B AN T HEAT & 2

(A) e &RTa (B) 3R oIITd
(C) 3fra orTd (D) anfeie @rTa
What is cost of self-owned resources called ?

(A) Explicit cost (B) Implicit cost

(C) Average cost (D) Economic cost

A= S, URed @) ¥ & —

(A) B JATTH H (B) 3iqd e
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90.

91.

(C) (A) 3R (B) (D) s & @I -7l
Marginal Revenue is the rate of change in
(A) Total Revenue (B) Average Revenue

(C) (A) and (B) (D) None of these

frfarRad & BI—1 B el ® ?

(A) T8 B HAA U IHD! g & 19 Aer TR B 2 |
(B) Ufcf g a1 & <V SWR & 3R I B |

(C) fRarrs avgeil @ gfdd @ o 3miefigd draeR gl @
(D) Sudad |+l

Which of the following statement is true ?

(A) Price and Supply of a commodity is directly related.
(B) Supply curve rises from left to upward right

(C) Elasticity of supply of durable good is relatively elastic
(D) All the above

AT B g e H R g ?

(A)%xmo (B)%xmo
©) =t (D) (A) SR (B) 7

Which of the following is Elasticity of Demand ?

Aq/q AP/P
(C)2LE (D) (A) and (B) both

AP’ q
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92. = %9 ®F i 81 g ?
(A) gaT &1 gRHTT

(B) &1

(C) ufg |l Uy &7 A

(D) #ifds =g

Which of the following is not a stock ?
(A) Quantity of money

(B) Wealth

(C) Five hundred Rupee note

(D) Monetary Expenditure
93. IRl Td WAt & WA FHd R # FR=R RRrae @1 g9 swEd § °?

(A) g1 ifa (B) rawifey
(C) H=T IRt #dl (D) =Y

A persistent fall in the general Price level of goods and services is

called -
(A) Inflation (B) Deflation
(C) Stagflation (D) Depression

94, Wﬁ@WéﬁCW%}?

(A) HHTT ITEIT ygfa (B) STHRT &1 Sited fafg Wi
(C) STHrT (D) got

Amongst the following what is C in multiplier ﬁ ?
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95.

96.

(A) Marginal Propensity to Consume
(B) Subsistence level of Consumption
(C) Consumption

(D) Capital

=ifhd H DI—AT HUF T T ?

(A) B BT ISR RIgT g9mE@aqel 77 ) R 7 |

(B) STHIT UG 3T BT A SYANT Bl HEeATal 2 |

(C) ®I=A &1 ISR g A AT &1 G W Hgar |

(D) ®I=a =1 fauifed foar fob gfd w2 e AT GRord &l 2 |

Which of the following statement is False ?

(A) Keynesian Theory of Employment depends on Effective Demand
(B) Relationship of consumption and income known as Consumption
Function

(C) Keynesian Theory of Employment is also called as theory of
Deficient Demand.

(D) Keynes propounded that supply creates its own demand.

TR @ BT FTfIRad § B A1 BRUT & ?

(A) srrepifis <y (B) wiferes g

(C) (A) 3R (B) &I (D) 4 ¥ &g el

Which of the following is the cause of a Trade Cycle ?

(A) Deflationary Conditions
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(B) Inflationary Conditions
(C) (A) and (B) both
(D) None of the these

97. ISP ST aRIeR & —

(A) Treiffies |TeT — TSl I (B) wrerffies =€t + 1ol Y

(C) BT d5Ic &I — Rl goic (D) o1 FI — RToid ifqdn
Fiscal Deficit equals —
(A) Primary Deficit — Interest Payment
(B) Primary Deficit + Interest Payment
(C) Total Budget Expenditure + Total Budget Receipt
(D) Revenue Expenditure — Revenue Receipt
98. fHIfhd W ®IF AT HUF 3 T ?
(A) @UR I H g 9 FHfed il ¢ |
(B) YT WY IR WY Pl T H Yeb Hhiad &R & |
(C) ofEr &1 gfte | I Y Had Agerd &I & H I8l 2 |

(D) A I @ WA H el @i iR Yo @rar e g g |

Which of the following statement is False ?

(A) Visible items are included in Balance of Trade.

(B) Balance of Payment is a narrow concept in comparison of Balance

of Trade.
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99.

100.

(C) From accounting point of view, Balance of Payment is always
balanced.
(D) Current account and Capital Account are included in Balance of

Payment

foreiferd o o9 91 HUF I 2 |

(A) TG FARTIAT Ieh HeT & FAMOR Bl & |

(B) YoTiard srferazer # Aol & vd ArdwivG &5 &7 Ag—3iRaw 8T & |
(C) | 3RAfAT 81 € |

(D) Setvar @ FHRAT T99 BT O <l 7 |

Which of the following statement is true ?

(A) Production Possibility curve is parallel to axis.

(B) Capitalist Economy has a co existence of private and public sector.
(C) Resources are unlimited

(D) Scarcity problem gives rise to choice

AT 3TqER o Td 7 & F B g 2

(A= (B) =
(©) 3o (D) &5 & B¢

Which of the following is Marginal Opportunity Cost ?

(A= (B) =

(C) MUx (D) None of these

MUy
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Yvs—4q / Section-B

oY SN 999 (Short Answer Type Questions)

U G119 30 ofg SN U €| fbel 15 YTl & TR © | U Y & forg
2 3 MUiRT €| U® IR 40-50 wreaf H ford | (15x2=30)

Question no. 1 to 30 are Short Answer Type Questions. Answer any 15
questions. Each question carries 2 marks. Write your answer in 40 — 50
words each : (15x2=30)

1. ftc ug gAfe sefemes o gy R | 2
Define Micro and Macro Economics.
2. JAEA & AEEl Bl 3Hfdhd B | 2
Mention the factors of Production.
3. Tl W Wal & 9™ foran | 2
Write the name of two invisible items.
4. UolaTaT SrfedeRell ¥ 39 7 |ASK © 2 2
What do you mean by Capitalist Economy ?
5. UoINTd &g & faRiyany 9asy | 2
State the characteristics of Capital Expenditure.
6. MM UfoRUT &% T § ? 2
What is Marginal Rate of Substitution ?
7. U PR TG AU PR H AR T N | 2

Differentiate between Direct tax and Indirect tax.
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10.

11.

12.

13.

14.

15.

16.

17.

q & g A fgeET S|

Explain the Law of Demand.

faferr <=0 @1 gWIfdd =1 arel &1 d<al &l a8y |
Mention the two factors influencing Exchange Rate.
aRad=eer aruTa & g @ sravery iRy |

Write the stages of Law of Variable Proportion.
TS yTfeert @ gk < |

Define Revenue Receipts.

fhefl g BT AHRI IG B9 AT ST © 2

When is a good considered a normal good ?

TG AT a6 9T & 2
What is Production Possibility Curve ?
TR B = faRva a1 7 ?

What are the main characteristics of tax ?

At &1 favg &1 fad=qT Sy |

Discuss the point of Inflexion.

o

AMfed SRS T © 2

What is Involuntary Unemployment ?
SERAAAT a9 b P & ?

What is Indifference Curve ?
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

AMfEd AT DI ARAT HIfIY | 2

Explain Aggregate Demand.

AT 3TH AT HHT 3ITH & a9 G+ D] IR DIfOTU | 2

Explain the relationship between Average Revenue and Marginal

Revenue.

JfeRe ART A a1 AT 7 7 2
What is Excess Demand ?

Al e gd et e § R W o | 2
Differentiate between Gross Investment and Net Investment.

oof AT B TR 2

Define Perfect Competition.

U fg—eig Rieawell § 3 &7 g YdTe §9eisy | 2
Explain the circular flow of income in a two sector economy.

SUHIT a3l T YoiTd aegall H 3R W P | 2
Differentiate between Consumer goods and Capital goods.

Ahel TS M B 0T | b= 7l &l It =71 fhar oiar g 2 2

In the calculation of Gross National Income which items are not

included?
A =01 & U Ieedl BT quie o | 2
Explain the main objectives of credit control.

A= gord ggia T2 A= IU9RT g § Rl aa18y | 2
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28.

29.

30.

Express the relationship between Marginal Propensity to Save and

Marginal Propensity to Consume.

IR ART & HHT WR IR FIT J91G ISl 2 2 2
What is the effect of excess demand on Price level?

SR qoTe @) afRaTeT < | 2
Define Gender budget.

fdr g & T ST | 2
Give two examples of Development Expenditure.

" 9a9g 939 (Long Answer Type Questions)

T AT 31 ¥ 38 WY S U 2| fhel 4 U & SR S | YA & folU 5
3 MuiRd € | U IR 100—120 &l H T | (4x5=20)

Question no. 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. Answer in 100-120 words each.

31.

32.

33.

(4x5=20)
qul UiRATET & 2 ? qof i @ faRarg aarsy | 5
What is Perfect Competition ? Explain the Characteristics of Perfect
Competition.
IR BIAT R FHR HHT H 3R DI | 5

Differentiate between Market Price and Normal Price.
FARE MR & ATAR ANJHRAT & IR Y &3] BT 0T PN | 5

According to Macro Economics describe the four major sectors in an

economy.
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34.

35.

36.

37.

38.

A= SUARAr Ud fdd SUAIRAr & d9 & ey @l fadgmr difordr gd
G B AETIAT DI | 5

Explain the relationship between Marginal Utility and Total Utility with

the help of a Schedule and Diagram.
T & TDTT YaTg H ¥R IR &R BT IR BT IRIT HIFY | 5

Explain the concept of injections and leakages in Circular Flow of
Income.

QI ITUMET ¥ 31U T AHS & © 59 DY §X bl & Ahdl & ?

What do you mean by Double Counting ? How the problem can be

solved?

BT 6 P IAfTH 0T T[T & BRI BT I BT |

Explain the lender of last resort function of the Central Bank.

faael faffma s) MR & 7 7 vd gfd Rigra @1 @R ifo |

Discuss the Demand and Supply Theory of Foreign Exchange rate

determination.
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